obooonb 0000 NoebUDOODOODOO ooO0:20030000000
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gobo:0000040o

oood:0mMi1OM20 0O0:00000 O0000:00000 000
go:.0000000 godo

gbboobooobboobooobbooboan
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goobooboobbobboobooobolboobooo

1. 0000000000 myee DOOODODOO0OOOO0O0ODODOO0OOOO0ODO0OOO0OOO00O0O0

(160)
0000000 Timee O

_ Omaz — Omin
Tmax = 9

gbbooobuoobboobboobobooooboad

00 (MPa) ooo (MPa) 0000000 (MPa)
oo |Oo,0 |Ooy,0 |0Oo, 0 |07y | Oome:d | O omin U O Traz U
A 100.0 -21.0 0.0 35.0 109.4 -30.4 69.9
B 120.0 -33.0 0.0 43.0 131.3 -44.3 87.8
C 110.0 -42.0 0.0 54.0 127.2 -59.2 93.2
D 99.0 -57.0 0.0 53.0 115.3 -73.3 94.3
E 90.0 -15.0 0.0 52.0 111.4 -36.4 73.9
F 95.0 -49.0 0.0 48.0 109.5 -63.5 86.5
G 113.0 -44.0 0.0 44.0 124.5 -55.5 90.0
H 115.0 -36.0 0.0 39.0 124.5 -45.5 85.0

2.000000000000ooODbbbbOo0obbObDbbbbOoooobDbDbDbD8Od

000000000000 0UoOoOoooooooGOo)
gogoobobobobbuotogoooooobbbogooooooboooboobooobod
boboboboboboboboobonb bo

000000000000000000000000000000000000000
000000 oy 000000000000000000000000 $S=40000
(150)
000000000000000000000000000000000000000
0000000000000000000000000000

Ty oy
Tmaz < Ta = o =

S 28
0>2-5 Tomar =2 x4 x94.3 = 754M Pa




4. O EDOO0O e4,6y,62,7y 000000000 Youngd E = 200GPal Poisson O
v=030000(160)

gbbooboogboobon

Er = %(% —voy) = m(go —0.3(—15)) = 4.725 x 107* =473 x 10°°
1 1 —4 -6
€y = E(O'y — Vo) = m(—w —0.3x90) =-2.1x10"" = —210 x 10
v 0.3 _4 —6
e: =~ (00 +0y) = oo —755(90 — 15) = ~1.125 x 107" = ~113 x 10
Yoy = o = wmy = H 152 =6.76 x 10~ = 676 x 10~°

020 000000 e =120x107°%0 ¢, =40x107°0 v, =60x10¢ 0000000000
0000000000000 0000000oo0o0ooooooooooooooooon
(200)

0000000000 (80x107%0) 00000 (120 107630 x107% 0000000
V402 4302 x 1076

e1=130x 1070006, =30x 1076

7—;-“ =50 x 10700 0 0 gy = 100 x 10~°

30 x 1076
40 x 10-6
01 =18.4°0 0060, = 18.4 4+ 90 = 108.4°

3
tan 20, = 000 20, = tan™* 1 36.9°

-30

130 ex 1076

30

50
% x 10—6

0300000000000000000000e; =800x107%0e =500x10%00000

000 01,00 00000000 7ipee D0000000 Youngd E = 200GPal Poisson [
vy=030000(180)

gbobooobouoobboobboobboooobooad

200 x 103

o3z (800+0.3x500) x 107% = 209M Pa

o1 = m(«fl +veg) =



200 x 103

_ _ —6 _
o9 = 1.2 (e9 +ver) = o3 (500 4 0.3 x 800) x 107" = 163M Pa
1 1 1
Tmaz = 5 (Omaz — Omin) = 5 (01 —09) = 5(209 —163) = 23M Pa

04 000000000O0YoungO EODOOOOCOOD GOOODOOOOO E=70.6GPa O
G=265GPa000000000000DO0OOO KO Poissond v OOOOO(100)

EG 70.6 x 26.5
K — _ —70.10 GP
383G _E) 3x(3x265—706) “
E—2 6 — 2 % 2.
. G _T06-2x265 .o

2G 2 x 26.5



